Svenska Bridgeférbundet
Simultantavling Dagtid 2016-11-03

Partavling, 41 bord, 80 par. Antal brickor: 24. Medel: 912.4. Frirond (*) ger egen procent.

Plac Par
1 A3
2 D1
3 A5
4 B7
5 B1
6 C5
7 A4
8 All
9 A7

10 D14
11 E15
12 D16
13 B3
14 E5
15 D10
16 El
17 E2
18 EI16
19 D7
20 C2
21 B12
22 D5
23 C6
24 D12
25 A8
26 D25
27 D20
28 D3
29 E8
30 A10
31 E11
32 D9
33 Ci11
34 D18
35 D13
36 B6
37 E7
38 D2
39 C7
40 E14
41 D11
42 B4
43 B10
44  E12
45 A2
46 B5
47 C8
48 B8
49 D26
50 C1
51 D8
52 C4
53 C3
54 D24
55 E6
56 D23
57 D6
58 E9
59 D19
60 B9
61 Al4
62 C10
63 Al
64 E10
65 D4
66 Bll
67 C12
68 B13
69 B2
70 D21
71 Bl4
72 D15
73 Al13
74 E4
75 D17
76 D22
77 A9
78 Al2
79 E3
80 A6

Poang

1277.6
1190.4
1182.5
1178.7
1156.6
1135.6
1125.4
1117.7
1113.5
1104.0
1088.9
1069.9
1068.7
1062.0
1057.1
1043.5
1042.2
1030.0
1022.6
1013.3
1008.4
1006.6
998.1
997.5
993.5
990.4
989.5
984.5
972.5
971.4
965.1
963.0
945.5
942.6
939.8
936.6
928.8
926.5
913.9
911.5
909.4
908.5
897.3
896.3
889.5
889.0
887.3
886.0
878.5
878.3
867.6
857.7
850.3
839.8
837.3
822.4
816.8
810.6
810.4
805.3
799.3
798.4
795.7
793.7
790.7
788.5
783.5
770.5
770.4
746.2
703.5
701.5
698.6
693.8
692.3
682.4
670.5
609.3
577.1
523.5

%

70.05
65.26
64.83
64.62
63.41
62.26
61.70
61.28
61.05
60.53
59.70
58.66
58.59
58.22
57.95
57.21
57.14
56.47
56.07
55.55
55.28
55.19
54.72
54.69
54.47
54.30
54.25
53.98
53.32
53.26
52.91
52.79
51.84
51.68
51.52
51.35
50.92
50.80
50.10
49.97
49.86
49.81
49.20
49.14
48.76
48.74
48.65
48.57
48.16
48.15
47.57
47.02
46.62
46.04
45.91
45.09
4478
44.44
44.43
44.15
43.82
43.77
43.63
4351
43.35
43.23
42.95
42.24
42.24
40.91
38.57
38.46
38.30
38.04
37.96
37.41
36.76
33.40
31.64
28.70

Namn

Per-Olof Eriksson - Anders Walldov
Borge Rosqvist - Lennart Linnerstedt
Benny Hellman - Margareta Roos

Siv Larsson - Borje Mansson

Leif Nilsson - Lars Dreja

Lars Moquist - Katarina Freitag

Lars Dahlgren - Renja Jonasson

Hans Nerell - Set Nilsson

Arnfinn Gulliksen - Christer Gottlieb
Waldo Whiteman - Lennart Karlsson
Idor Kihlmark - Lars Haglund

Ake Karlsson - Gun Karlsson

Kristina Andersson - Lars-Goran Wulff
Leif Eliasson - Annika Haaga

Kerstin Kardell - Ann-Margret Bokmark
Bengt Hallgren - Svante Wangberg

Leif Lundmark - Lottie Lundmark

Inger Nygard - Gunilla Ramén

Inger Kippel - Kerstin Engmark

Berndt Lundgren - Ebbe Warme
Marianne Andersson - Eva Dokken
Bernt Carlsson - Olle Rejler

Eje Sandell - Thore Ericsson

Claes Lindberg - Ake Hermansson
Monika Borg - Eva Thornell

Curt Johansson - Roland Lundberg
Lars Kvissberg - Marianne Kvissberg
Bertil Andersson - Margareta Hedin
Per Bergstén - Cecilia Morner

Riitta Wennberg - Gosta Bengtsar
Bengt Ljungcrantz - Harry Tallo

Ulla Carlsson - Lisa M&back

Roland Stanggren - Nils Karlsson

Arne Gustavsson - Jan-Ake Gustavsson
Harald Danielsson - Olle Nilsson

Britt Larsson - Leif Larsson

Else Kovacs - Anders Kovacs

Bengt Andersson - Ingvar Jonsson

Kurt Karlsson - Eskil Mattsson

Kent Wéppling - Else-Marie Wéappling
Eskil Steg6 - Ulla Wahlquist

Inga Andersson - Bengt-Goran Einarsson
Bengt Ungesson - Lars Ungesson
Bruno Astrand - Eivor Henriksson
Jorgen Boethius - Kjell Persson

Inger Pahlsson - Elna Brodin
Anna-Lisa Arvin - Sven-Olof Ahlgvist
Monica Pettersson - Kent Pettersson
Ulla Quchterlony - Siv Gustavsson
Johan Hermansson - Christer Israelsson
Ingmarie Leinskold - Solveig Holm

Eva Baranyai - Janos Baranyai

Inger Karlsson - Borje Karlsson

Lage Johnsson - Ingemar Lindberg
Curt Lind - Ake Séderberg

Nils-Géran Engmark - Lars-Gunnar Karlsson
Nisse Askehed - S6ren Widén
Margaretha von Plomgren - Sonja Uulas
Raine Harju - Eva Hydén

Elsa Kristiansson - Berit Falk
Margareta Lindberg - Cary Garstal
Anni Zastrav - Curt Petersson

Erica Josefson - Bertil Josefson
Per-Olov Viterstedt - Margareta Viterstedt
Ulla Britt Larsson - Marianne Warnelius
Marie Géransson - Kjell-Ake Ottosson
Inga Zackrisson - Ove Zackrisson

Christina Nyman-Nilsson - Karl-Fredrik Wasén

Ulla-britt Strdman - Unni Trolle

Lilly Andersson - Louise Ljungberg

Anders Martensson - Kjell-Ake Nilsson
Inga-Lill Andersson - Margareta Klingspetz
Siv Boethius - Hans Wijkstrom

UIf Frimodig - May Lindberg

Ingrid Karlsson - Margareta Strom
Margareta Ljunge - Margareta Jarheden
Anna-Greta Berg - Ingvor van Ginhoven
Marie-Louise Sandberg Olofsson - Eijvor Frej
Gunilla Nystrém - Inger Bingman

Anita Sandén - Margareta Gulliksen

MID

9903
8491
15033
38571
92537
9743
37386
85810
48804
2111
21611
1176
85739
58736
1303
8909
53805
25338
50188
17075
34364
29381
58910
55490
41052
90652
51550
11916
41
33280
4393
92010
41595
14962
36010
26991
55590
91415
29250
88572
91133
92541
49958
53524
45557
41806
28826
54537
45563
28975
32383
59297
10753
83441
89512
80598
29397
40826
54128
32740
47517
60270
8684
53174
25734
53342
32799
44710
59479
26906
61851
79231
47480
41478
35000
1480
49605
62312
53177
25361

44650
1317
25354
41793
11895
84856
13353
39725
48775
1196
47878
1201
92548
58735
78984
47877
53804
39649
51114
29258
11347
26731
58907
55504
37874
40418
84687
91376
87945
33443
30401
30510
19286
11951
55230
26990
56602
91413
29253
88573
36625
48761
41805
17544
35510
41680
29244
54536
87227
55541
32027
59298
7159
56706
27160
90952
29396
53172
58279
59482
48802
29263
36200
53173
78985
41802
32800
61906
41817
36998
61852
26963
41392
87809
35001
36059
41377
58332
61665
25248

Klubb

Sandvikens BK - BK S:t Erik
Filbyter Bridge

Rotebro BS

BK ESS-lov

BK ESS-lov
Bridgekamraterna Nybro
BK ALERT

Vastra Bjare BK - Norrorts Bridge
BK ALERT

Filbyter Bridge

Trosa BS

Filbyter Bridge

BK ESS-lov

Trosa BS

Filbyter Bridge

Trosa BS

Trosa BS

Trosa BS

Filbyter Bridge
Bridgekamraterna Nybro
Lunds BK

Filbyter Bridge
Bridgekamraterna Nybro
Filbyter Bridge

BK S:t Erik - Norrorts Bridge
Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

Trosa BS

BK S:t Erik - Alvik BC
Trosa BS

Filbyter Bridge
Emmaboda BK

Filbyter Bridge

Filbyter Bridge

BK ESS-lov

Trosa BS

Filbyter Bridge
Bridgekamraterna Nybro
Trosa BS

Filbyter Bridge

BK ESS-lov - Laholms BK
BK ESS-lov

Trosa BS

BK ALERT

BK ESS-lév - Lomma BK
Bridgekamraterna Nybro
BK ESS-lov

Filbyter Bridge

Bridgekamraterna Nybro - Emmaboda BK

Filbyter Bridge - Ljungsbro BK
Bridgekamraterna Nybro
Bridgekamraterna Nybro
Filbyter Bridge

Trosa BS

Filbyter Bridge

Filbyter Bridge

Trosa BS

Filbyter Bridge

BK ESS-lov
Vasbypensionarernas BF
Bridgekamraterna Nybro
Norrorts Bridge

Trosa BS

Filbyter Bridge

BK ESS-lov

Emmaboda BK

BK ESS-lov

BK ESS-lov

Filbyter Bridge

BK ESS-lov

Filbyter Bridge

BK ALERT

Trosa BS

Filbyter Bridge

Filbyter Bridge

BK ALERT

BK ALERT

Trosa BS

BK ALERT
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1 & K964 Basta kontrakt 2 & KDKn Basta kontrakt 3 a5 Basta kontrakt
Nord v EKn7 64 O D -3500 Ost v Kn9753 3v S =140 Syd vED3 4v S =420
Ingen + ED532 NS + K108 ov + D876
«10 & ¢ v & NT #KKn & ¢ v & NT #KD1076 & ¢ v & NT
4 D10853 4 EKn72 N 3 12114 3 4 E1052 4763 N8 89 88 « EK98743 4D2 N 9 109 5 6
v52 v 1086 S 4 12113 3 v1084 vD62 S 88987 v K82 vKn107 S 1010105 6
¢ 74 +K 070193 ¢ED32 ¢ Kn74 045455 .- ¢Kn10952 O 2 3 3 8 3
#EKKN6 #87543 V70193 #65 #D1092 V45455 £#Kn84 #952 V23383
a- 4984 4 Kn106
v KD943 vEK v 9654
+ Kn10986 4965 + EK43
«D92 #E8743 »E3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A4 A6 4v S+2 #A 480 76.0 0.0|D16 D2 3NN= 2«9 600 75.0 1.0|D16 D9 54DV-3 6 800 76.0 0.0
B8 B14 4v S+1 &3 450 73.0 3.0|E16 E12 3NN= &2 600 75.0 1.0|D10 D18 4vDS= &4A 590 740 2.0
D9 D17 4v S+1 &A 450 730 3.0| B4 B6 3vy N+1 ¢4 170 720 4.0| E9 E12 4¢DS= &A 510 71.0 5.0
B4 B6 5¢ N+2 &A 440 69.0 7.0| B3 B1l 2NN+1 ¢4 150 66.0 10.0 | A10 A1l 4¢DS= A 510 71.0 5.0
D11 D21 5¢ N+2 &A 440 69.0 7.0 A9 A10 2NN+1 &9 150 66.0 10.0| C4 C3 54DV-2 &K 500 68.0 8.0
C4 C3 4v S= &A 420 61.0 150| E9 E4 24 V-3 &K 150 66.0 10.0 | D12 D22 3NS+2 «A 460 66.0 10.0
D5 D22 4v S= &A 420 61.0 15.0|B12 B7 2NN+1 &T 150 66.0 10.0| A3 A6 3NS+1 v2 430 64.0 12.0
B9 B10 4v S= &A 420 61.0 15.0|D12 D23 INS+2 2 150 66.0 10.0| E1 E16 4v S= A 420 62.0 14.0
B12 B7 5¢ N+1 &A 420 61.0 15.0| D1 D14 3v N= 43 140 55.0 21.0| D2 D15 3v S+1 &A 170 59.0 17.0
E14 E7 4v S= &A 420 61.0 15.0| A3 All 2v N+1 46 140 55.0 21.0|D19 D4 3vS+1 «4A 170 59.0 17.0
D18 D3 4v S= &A 420 61.0 15.0| A8 Al4 3v N= v2 140 55.0 21.0| A4 Al2 4¢ S= «A 130 50.0 26.0
A2 A5 5¢ N= A 400 53.0 23.0|C10 C5 2v N+1 &7 140 55.0 21.0| E4 E6 4¢ S= A 130 50.0 26.0
E16 E12 5¢ N= &8 400 53.0 23.0|E10 E2 3v N= 47 140 55.0 21.0| A5 A7 4¢ S= «A 130 50.0 26.0
A8 Al4 2v S+3 &#A 200 490 27.0|E15 E6 2v N+1 &2 140 55.0 21.0| C7 C12 3#S+1 &A 130 50.0 26.0
D24 D6 3v S+2 43 200 49.0 27.0| D5 D22 2NN= ¢4 120 46.0 30.0|/C10 C5 44 S= A 130 50.0 26.0
C7 C12 3¢ N+4 &4A 190 46.0 30.0| D7 D26 2NN = 9 120 46.0 30.0 | E14 E8 3¢ S+1 #4A 130 50.0 26.0
D7 D26 3v S+1 &A 170 37.0 39.0|D10 D19 2N N= &9 120 46.0 30.0| D25 D7 3¢ S+1 4A 130 50.0 26.0
D10 D19 4¢ N+2 «A 170 37.0 39.0| A4 A6 2#S+1 ¢3 110 36.0 40.0| D1 D26 3¢ S= «A 110 42.0 34.0
E10 E2 3vS+1 &A 170 37.0 39.0| C4 C3 1v N+1 &7 110 36.0 40.0| B3 B6 34V-1 7 100 37.0 39.0
Al2 A7 4¢ N+2 &A 170 37.0 39.0| D4 D20 24 S+1 T 110 36.0 40.0| D8 D14 44 V-1 &K 100 37.0 39.0
D12 D23 3¢ N+3 «A 170 37.0 39.0| C7 C12 2v N= 47 110 36.0 40.0| E10 E5 34 V-1 vA 100 37.0 39.0
A13 Al 2¢ N+4 T 170 37.0 39.0|Al2 A7 1v N+1 ¢4 110 36.0 40.0| D13 D24 34 V-1 &K 100 37.0 39.0
D13 D25 2v S+2 &#A 170 37.0 39.0|A13 Al 24S+1 45 110 36.0 40.0| Bl B8 5¢ S-1 &A -50 24.0 52.0
E15 E6 2¢ N+4 &2 170 37.0 39.0|D15 D8 2#S+1 ¢A 110 36.0 40.0| C2 C11 5¢ S-1 &A -50 24.0 52.0
B2 B5 3¢ N+2 #4A 150 23.0 53.0| B8 B14 INS= a2 90 26.0 50.0| B4 B12 3¢ S-1 4A -50 24.0 52.0
C2 Cl11 3¢ N+2 &A 150 23.0 53.0|B13 Bl 2&S= vT 90 26.0 50.0| B5 B7 4¢ S-1 &A -50 24.0 52.0
A3 All 4¢ N+1 #2 150 23.0 53.0|D24 D6 2& S= s A 90 26.0 50.0| C8 C6 4v S-1 49 -50 24.0 52.0
E8 E11 3¢ N+2 &8 150 23.0 53.0| A2 A5 3NN-1 ¢J -100 15.0 61.0| A9 Al4 3v S-1 4Q -50 24.0 52.0
C10 C5 4¢ N+1 &8 150 23.0 53.0| B2 B5 4vy N-1 &9 -100 15.0 61.0| B9 Bl4 4¢ S-1 4A -50 24.0 52.0
D15 D8 3¢ N+2 v6 150 23.0 53.0| E3 E5 3v N-1 &7 -100 15.0 61.0 | B10 B11l 5¢ N-1 42 -50 24.0 52.0
B13 Bl 4¢ N= v8 130 15.0 610 C8 C6 3NS-1 2 -100 15.0 61.0|B13 B2 3¢ S-1 4A -50 24.0 52.0
D16 D2 2¢ N+2 &A 130 15.0 61.0| D9 D17 3NN-1 #Q -100 15.0 61.0| A1l A8 5¢DS-1 4A -100 11.0 65.0
D4 D20 3¢ N= &4 110 12.0 64.0 (D11 D21 3NN-1 ¢4 -100 15.0 61.0| D5 D21 4v S-2 4A -100 11.0 65.0
E3 E5 34 V-1 ¢A 50 10.0 66.0 D13 D25 4v N-1 &9 -100 15.0 61.0| E7 E15 5¢ S-2 &K -100 11.0 65.0
C8 C6 INS-1 43 -50 7.0 69.0(D18 D3 3NN-1 &T -100 15.0 61.0|E11 E3 5¢ S-2 v2 -100 11.0 65.0
E9 E4 4v S-1 #A 50 7.0 69.0( C2 Cl11 4vy N-2 46 -200 5.0 71.0| D6 D23 24 V= vA -110 4.0 72.0
D1 D14 34 V= &T -140 4.0 72.0| B9 B10 4y N-2 &7 -200 5.0 71.0| D11 D20 24 V= &K -110 4.0 72.0
B3 B1l 3NS-5 &6 -250 2.0 74.0| E8 E11 3NN-3 ¢4 -300 1.0 75.0| A13 A2 24 V= +6 -110 4.0 72.0
A9 Al10 44DV= ©vA -590 0.0 76.0|E14 E7 3NS-3 2 -300 1.0 75.0|D17 D3 34 V+1 ©vA -170 0.0 76.0
- C1 36.6 - C1 36.6 - C1 36.6
- E1 435 - E1 435 - E2 434
4 & K954 Basta kontrakt 5 & DKn2 Basta kontrakt 6 41062 Basta kontrakt
Vast v E95432 64 V =-1430 Nord v 98 6NT N =1440 Ost v K932 44 S =420
Alla +6 NS ¢+ EKKn74 ov 495
«D5 & ¢ v & NT *K72 & ¢ v & NT #EK109 & ¢ v & NT
32 «EDKN107 N 2 1 6 1 2 410973 454 N 12127 1212 # KKn 484 N7 7 6 108
vK1087 v- S21612 vKnl0 ¢D765432 S 12127 1212 vE74 vDKn1086 S 7 7 6 108
+ E87 ¢ KD542 O 11127 1110 +D982 ¢10 011611 ¢+ E8763 ¢ 104 O6 6 7 3 4
#E872 #KKn6 VvV 11127 1211 #DKn9 #543 v1i1i611 #Kn43  #D652 V66734
4 86 » EK86 « ED9753
v DKn6 vEK v5
+ Kn1093 4653 ¢ KDKn2
210943 *E1086 *87
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
E9 E12 3NV-3 v5 300 76.0 0.0| C8 C12 6NS+1 8 1470 76.0 0.0| C3 Cl11 44 S+1 &J 450 71.0 5.0
C5 C4 3NV-2 v3 200 720 4.0| C3 Cl11 6NS= «Q 1440 700 6.0| A4 A7 44 S+1 v4 450 71.0 5.0
D11 D20 6¢ O-2 48 200 720 4.0| A5 Al 6NS= vJ 1440 70.0 6.0| A1l Al12 44 S+1 v4 450 71.0 5.0
D12 D22 5¢ O-2 #3 200 720 40| C5 C4 6NS= +3 1440 70.0 6.0|D11 D19 44 S+1 v4 450 71.0 5.0
El1 E16 3NO-1 vQ 100 67.0 9.0|Al1l A12 6NN= v2 1440 70.0 6.0|D13 D23 44 S+1 v4 450 71.0 5.0
D25 D7 34 0-1 vQ 100 67.0 9.0|D18 D4 6NS= ¢T 1440 700 6.0|D18 D4 44 S+1 ¢A 450 71.0 5.0
D2 D15 14 O+1 vQ -110 63.0 13.0| D3 D16 64 S= vJ 1430 63.0 13.0| C1 C7 44 S= ¢A 420 52.0 24.0
A3 A6 24 O= v4 -110 63.0 13.0|E11 E6 64 S= 9 1430 63.0 13.0| D1 D25 44 S= ¢A 420 52.0 24.0
B13 B2 24 O+1 +vQ -140 60.0 16.0| D1 D25 3NN+3 ¥5 690 55.0 21.0| A2 A9 44 S= ¢A 420 52.0 24.0
Al A8 3¢ O+2 vQ -150 54.0 22.0| A2 A9 3NN+3 v6 690 55.0 21.0| A5 Al 44 S= &4 420 52.0 24.0
D5 D21 3¢ O+2 vQ -150 54.0 22.0| D7 D24 3NN+3 v2 690 55.0 21.0| B5 Bl 44 S= &3 420 52.0 24.0
E7 E15 3¢ O+2 &T -150 54.0 22.0| D9 D15 3NS+3 T 690 55.0 21.0| E5 E7 44 S= &J 420 52.0 24.0
B9 B14 2¢ O+3 48 -150 54.0 22.0|E12 E4 3NS+3 T 690 55.0 21.0| D7 D24 44 S= ¢A 420 52.0 24.0
B10 B11l 3¢ O+2 vQ -150 54.0 22.0|D26 D8 3NN+3 v2 690 55.0 21.0| C8 C12 44 S= ¢A 420 52.0 24.0
D1 D26 3¢ O+3 vQ -170 45.0 31.0| B2 B9 44 S+2 vJ 680 46.0 30.0 |B11 B12 44 S= v4 420 52.0 24.0
Ad Al2 24 O+2 vQ -170 45.0 31.0| D2 D14 44 S+2 #Q 680 46.0 30.0 | E11 E6 44 S= vA 420 52.0 24.0
E4 E6 34 O+1 v6 -170 45.0 31.0 | A14 Al10 44 S+2 &9 680 46.0 30.0 | E16 E2 44 S= &3 420 52.0 24.0
El14 E8 24 O+2 +¢Q -170 45.0 31.0| C1 C7 3NS+2 #Q 660 31.0 45.0|D17 D10 44 S= ¢A 420 52.0 24.0
Bl B8 3v N-2 4A -200 38.0 380 A4 A7 ANS+1 vJ 660 31.0 45.0|D20 D5 44 S= ¢A 420 52.0 24.0
B5 B7 34 O+2 &T -200 38.0 38.0| B4 B7 3NS+2 47 660 31.0 45.0| D9 D15 4v O-4 ¢K 400 38.0 38.0
D13 D24 24 O+3 v6 -200 38.0 38.0| E5 E7 3NN+2 ¥3 660 31.0 450| B2 B9 24 S+3 ¢A 200 32.0 44.0
C3 C11 24 O+4 ¢J -230 33.0 43.0| D6 D22 3NS+2 «T 660 31.0 45.0| D2 D14 24 S+3 &3 200 32.0 44.0
Al3 A2 24 O+4 +vQ -230 33.0 43.0| E8 E15 3NS+2 vJ 660 31.0 450| B4 B7 2¢ V-2 &A 200 32.0 44.0
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Cl10 C6 3v N-3 4A -300 30.0 46.0|C10 C6 3NS+2 49 660 31.0 45.0| A6 A8 34 S+2 v4 200 32.0 44.0
D10 D18 3NV = v2 -600 28.0 48.0|B11 B12 3NS+2 43 660 31.0 45.0|E10 E1 34 S+2 &3 200 32.0 44.0
Cl C7 44 O= vQ -620 23.0 53.0|D12 D21 3NN+2 7 660 31.0 45.0|D12 D21 24 S+2 ¢A 170 24.0 52.0
B3 B6 44 O= &4 -620 23.0 53.0|B13 B3 3NS+2 48 660 31.0 45.0|B13 B3 24 S+2 v4 170 24.0 52.0
D17 D3 5¢ O+l v6 -620 23.0 53.0|B14 B10 3NS+2 vJ 660 31.0 45.0|B14 B10 34 S+1 ¢A 170 24.0 52.0
D19 D4 44 O= vQ -620 23.0 53.0|E16 E2 3NS+2 42 660 310 450| C5 C4 24 S+1 ¢A 140 17.0 59.0
C8 C12 3NV +1 44 -630 17.0 59.0 |E10 E1 44 S+1 #Q 650 17.0 59.0| B6 B8 24 S+1 vA 140 17.0 59.0
Al10 All 3NV+1l ¢5 -630 17.0 59.0 | D20 D5 44 S+1 vJ 650 17.0 59.0 [A13 A3 34 S= ¢A 140 17.0 59.0
E10 E5 44 O+1 v6 -650 14.0 62.0 | D13 D23 44 S= vJ 620 13.0 63.0 | A14 A10 24 S+1 #2 140 17.0 59.0
B4 B12 3NV +2 #4 -660 10.0 66.0 |D17 D10 44 S= vJ] 620 13.0 63.0| E9 E14 3v O-1 +K 100 12.0 64.0
A5 A7 3NV+2 #Q -660 10.0 66.0| B6 B8 5¢ N= v4 600 10.0 66.0| D3 D16 44 S-1 &3 -50 5.0 71.0
D6 D23 3NO+2 43 -660 10.0 66.0 |D11 D19 2NS+3 T 210 8.0 68.0( D6 D22 44 S-1 +A -50 5.0 71.0
D8 D14 44 O+2 ¢J -680 5.0 71.0| B5 Bl 24 S+2 vJ 170 6.0 70.0| E8 E15 44 S-1 3 -50 5.0 71.0
D16 D9 44 O+2 ) -680 5.0 71.0| E9 E14 3v O-2 #4A 100 40 720[(C10 C6 44 S-1 +A -50 5.0 71.0
A9 Al4 3NO+3 ¢J -690 2.0 740| A6 A8 64 S-1 vJ -100 1.0 75.0|E12 E4 44 S-1 v7 -50 5.0 71.0
E1l E3 34DO+1 ¢9 -930 0.0 76.0|A13 A3 64 N-1 vJ -100 1.0 75.0|D26 D8 44 S-1 ¢A -50 5.0 71.0
- C2 42.2 - C2 42.2 - C2 42.2
- E2 434 - E3 24.0 - E3 24.0
7 « DKn1087 Basta kontrakt 8 4 D7 Basta kontrakt 9 & EKn8432 Basta kontrakt
Syd v3 2¢ S =90 Vast vD93 6v N =980 Nord v EKn102 34 N =140
Alla + K1073 Ingen + KD42 ov + 10
#KKn2 & ¢ v & NT »E876 & ¢ v & NT #102 & ¢ v & NT
4 EK943 452 N8 86 76 41083 4Kn654 N 1012121111 4 D75 &K N547 98
vEK74 1098 S886 77 v10876 vK5 S 1012121111 vD6 v K973 S547 938
465 ¢ E982 055665 + 865 ¢ Kn93 031122 ¢ Kn54 + KD9873 079545
£107 #D653 V55665 #D103 #KKn92 V31122 #DKn863 #K4 V79545
46 » EK92 » 1096
v DKn652 v EKn42 v 854
+ DKn4 + E107 ¢ E62
#E984 «54 #E975
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D1 D24 24DV-2 ¥3 500 76.0 0.0|E15 E9 3NS+4 v6 520 759 01| Al A2 54DO-3 T 800 76.0 0.0
D14 D9 INO-3 v2 300 740 20| C2 C8 3NS+3 v6 490 69.6 6.4|D11 D17 44 N= ¢K 420 740 20
Cl C12 2vV-2 «Q 200 63.0 13.0| A3 A10 3NS+3 &3 490 69.6 6.4| D1 D23 5¢ O-3 49 300 720 4.0
El E5 24V-2 3 200 63.0 13.0| B6 B2 3NN+3 &9 490 69.6 6.4| E7 E9 4¢ O-2 T 200 69.0 7.0
D4 D17 2v V-2 ¢33 200 63.0 13.0|E12 E7 3NS+3 T 490 69.6 6.4|E16 E4 5¢ O-2 46 200 69.0 7.0
B5 B8 2¢vV-2 4Q 200 63.0 13.0|D18 D11 3NS+3 6 490 69.6 6.4| A4 All 34 N+1 ¢K 170 63.0 13.0
B6 B2 2NO-2 v2 200 63.0 13.0 | Al4 All 4v S+2 v7 480 63.3 12.7 |A12 Al4 34 N+1 ¢K 170 63.0 13.0
A7 A9 2v V-2 a7 200 63.0 13.0| C1 C12 3NN+2 &2 460 485 27.5|B12 B14 34 N+1 ¢K 170 63.0 13.0
D7 D23 2v V-2 ¢33 200 63.0 13.0| E1 E5 3NN+2 45 460 485 275|D20 D6 34 N+1 ¢9 170 63.0 13.0
E1l E2 24 V-2 v3 200 63.0 13.0| D2 D26 3NN+2 &5 460 485 275| E2 E6 34 N= &K 140 50.0 26.0
E12 E7 24 V-2 4Q 200 63.0 13.0| D3 D15 3NS+2 48 460 485 275| B6 B9 34 N= K 140 50.0 26.0
E15 E9 24 V-2 v3 200 63.0 13.0| A5 A8 3NN+2 &2 460 485 275| B7 B3 34 N= ¢+K 140 50.0 26.0
A5 A8 2NN+1 +2 150 52.0 24.0| A6 A2 3NS+2 v7 460 485 275 A8 Al0 34 N= v7 140 50.0 26.0
B3 B10 INN+1 45 120 49.0 27.0| E6 E8 3NS+2 48 460 485 27.5| D8 D24 24 N+1 ¢K 140 50.0 26.0
D21 D6 2NN = 42 120 49.0 27.0| A7 A9 3NN+2 45 460 485 275| D9 D26 34 N= ¢+K 140 50.0 26.0
C2 C8 INO-1 vQ 100 35.0 41.0| E10 E14 3NS+2 6 460 485 275|C10 C7 34 N= ¢+K 140 50.0 26.0
A3 A10 2v V-1 +3 100 35.0 41.0|C11 C4 3NN+2 «4 460 485 275|Cl1 C4 34 N= ¢K 140 50.0 26.0
E3 E16 24 V-1 T 100 35.0 41.0|D12 D20 3NN+2 &4 460 48.5 27.5|D13 D21 34 N= ¢+K 140 50.0 26.0
A6 A2 24 V-1 ¢7 100 35.0 41.0|B13 B4 3NS+2 v6 460 485 275 A7 A3 24 N= +K 110 40.0 36.0
C6 C5 2vV-1 «Q 100 35.0 41.0|B14 B11 3NS+2 6 460 485 27.5|D19 D12 4¢ O-1 4T 100 38.0 38.0
Cl10 C7 24V-1 ¢3 100 35.0 41.0| B3 B10 4v S+1 &3 450 317 443| Bl B2 44 N-1 +¢K -50 30.0 46.0
E10 E14 14 V-1 ¥3 100 35.0 41.0| D4 D17 4v S+1 &3 450 317 443| C1 C12 44 N-1 ¥3 -50 30.0 46.0
Cll C4 24V-1 ¢3 100 35.0 41.0| B7 B9 4v S+1 48 450 317 443| D2 D25 34 N-1 ¢K -50 30.0 46.0
D12 D20 24 V-1 ¢33 100 35.0 410 C6 C5 3NS+1 v7 430 254 50.6| B4 Bll 44 N-1 ¢3 -50 30.0 46.0
Al3 A4 24 V-1 ¢3 100 35.0 41.0|B12 Bl 3NN+1 &5 430 254 50.6| D5 D18 34 N-1 ¢K -50 30.0 46.0
B13 B4 14 V-1 +3 100 35.0 41.0|D19 D5 3NN+1 44 430 254 50.6 |E12 E3 44 N-1 ¢Q -50 30.0 46.0
D18 D11 1s V-1 3 100 35.0 41.0| E3 E16 4v S= T 420 19.0 57.0 [E15 E10 44 N-1  ¢K -50 30.0 46.0
D3 D15 14 V= v3 -80 22.0 54.0( B5 B8 4v S= 43 420 19.0 57.0( E1 E8 44 N-2 ¢K -100 19.0 57.0
D19 D5 INO= v2 -90 20.0 56.0 (D14 D9 4v S= 43 420 19.0 570 C2 C8 54 N-2 +K -100 19.0 57.0
B7 B9 24 N-1 &5 -100 17.0 59.0| D7 D23 3NN= &2 400 11.6 644 D3 D14 44 N-2 +K -100 19.0 57.0
Bl4 Bll 2v S-1 4A -100 17.0 59.0| D8 D25 3NN= &2 400 11.6 64.4|E14 E11 44 N-2 &4 -100 19.0 57.0
D2 D26 2v V= T -110 12.0 64.0|E11 E2 3NN= &2 400 11.6 64.4| D4 D16 2¢ O+1 &5 -110 8.0 68.0
E6 E8 24 V= v3 -110 12.0 64.0|A13 A4 3NN= 5 400 11.6 644 A6 A9 2¢ O+1 &7 -110 8.0 68.0
Bl12 Bl 2v V= +Q -110 12.0 64.0|C10 C7 INS+6 v6 270 6.4 696 C6 C5 3¢ O= oT -110 8.0 68.0
D10 D16 2NN-2 45 -200 5.0 71.0|A12 Al 2NS+3 ¥8 210 43 717 B8 B10 3¢ O= T -110 8.0 68.0
Al2 Al 2vS-2 4A -200 5.0 71.0|D21 D6 4¢ N+1 &2 150 2.2 73.8A13 A5 3¢ O= aT -110 8.0 68.0
D13 D22 2v S-2 4A -200 5.0 71.0|D10 D16 2v S+1 ¢5 140 0.1 759 |D15 D10 3¢ O= 49 -110 8.0 68.0
Al4 A1l INS-2 43 -200 5.0 71.0| D1 D24 3NO+1 44 -430>a 49.4 41.8|D22 D7 2¢ O+1 4T -110 8.0 68.0
D8 D25 3NN-3 42 -300 0.0 76.0|D13 D22 3NV +2 48 -460>a 41.8 49.4|B13 B5 4¢ O= 46 -130 0.0 76.0
- C3 354 - C3 354 - C3 354
- E4 28.9 - E4 28.9 - E5 44.2
10 4 Kn1082 Basta kontrakt 11 4 E73 Basta kontrakt 12 410973 Basta kontrakt
Ost v3 5v O =-650 Syd v 1086 3 S =110 Vast v52 3v V =-140
Alla 4985 Ingen + Kn109 NS + E53
#Kn7643 & ¢ v & NT #9732 & ¢ v & NT #8543 & ¢ v & NT
3 « KD765 N6 2243 «KD8 496542 N9 8867 485 « EKKn42 N65454
vED76 v KKn84 S6 2243 vDKn5 vE74 S 98867 vDKn964 vK8 S 65454
¢ EKn102 ¢ D74 O 7 10119 10 +542 ¢+ D86 0445765 ¢ K42 ¢ DKn8 077987
#D852 &K vV 7 10119 10 #E864 #KnlO0 V444735 #DKnl0 #762 V77987
« E94 4 Knl0 4 D6
v 10952 v K932 vE1073
+ K63 ¢ EK73 + 10976
*E109 #KD5 #EK9
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
D11 D17 44 O-4 v5 400 76.0 0.0| A5 Al12 2v V-4 ¢J 200 76.0 0.0| B7 B10 3NV-3 47 150 75.0 1.0
D20 D6 4v V-3 #4 300 740 2.0| D5 D17 INS+2 &8 150 720 4.0| E8 E10 44 O-3 &A 150 75.0 1.0
A6 A9 4v O-2 &9 200 710 50| E5 E16 2#V-3 &3 150 720 40| E1 E4 3NV-2 &8 100 70.0 6.0
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D13 D21 3¢ V-2 v3 200 710 5.0| B9 B1l INS+2 &6 150 720 4.0|Al13 A6 34 0-2 &A 100 70.0 6.0
D1 D23 4v V-1 &6 100 63.0 13.0| B1 B14 INS+1 48 120 61.0 15.0(B13 B6 24 O-2 #A 100 70.0 6.0
D2 D25 4v V-1 &3 100 63.0 13.0| C3 Cl1 INS+1 &4 120 61.0 15.0| E2 E9 24 O-1 &A 50 58.0 18.0
D4 D16 4v O-1 &A 100 63.0 13.0| D6 D19 INS+1 48 120 61.0 15.0| A5 Al12 2v V-1 ¢3 50 58.0 18.0
B6 B9 4v V-1 #3 100 63.0 13.0| A7 A10 INS+1 &8 120 61.0 15.0( E5 E16 2NV-1 &4 50 58.0 18.0
E12 E3 4v V-1 ¢9 100 63.0 13.0| B7 B10 2NS= &6 120 61.0 15.0| B8 B4 34 O-1 #A 50 58.0 18.0
E14 E11 4v O-1 &9 100 63.0 13.0| C7 C6 INS+1 #J 120 61.0 15.0|C10 C8 2NO-1 +6 50 58.0 18.0
E7 E9 2vV+l1 9 -140 56.0 20.0| A8 A4 INS+1 &4 120 61.0 15.0(C11 C5 INV-1 43 50 58.0 18.0
A8 A10 3v O+1 3 -170 54.0 22.0|C11 C5 INN+1 «&T 120 61.0 15.0 [E11 E15 24 O-1 &K 50 58.0 18.0
D8 D24 1INV +3 43 -180 52.0 24.0|E11 E15 3¢ S= «Q 110 52.0 24.0|D12 D18 2NO-1 +3 50 58.0 18.0
C3 C1l 3vV+2 +9 -200 50.0 26.0|C12 C2 34 0O-2 2 100 50.0 26.0 (D16 D11 2v V-1 %6 50 58.0 18.0
E2 E6 3NV= &3 -600 47.0 29.0| D1 D22 INS= &4 90 41.0 35.0| D9 D25 14 O= &K -80 48.0 28.0
D5 D18 3NV = &3 -600 47.0 29.0| A2 A3 INS= *6 90 41.0 35.0| D1 D22 INV= &5 -90 41.0 35.0
Bl B2 4v V= v3 -620 33.0 43.0| D3 D26 INS= &4 90 41.0 350 C3 C1 INV= 43 -90 41.0 35.0
D3 D14 4v O= s A -620 33.0 43.0| B8 B4 2¢ S= +Q 90 41.0 350 E3 E7 INV= a7 -90 41.0 35.0
A4 All 4v O= vT -620 33.0 43.0| E8 E10 INS= &4 90 41.0 35.0| B5 B12 INV= a7 -90 41.0 35.0
B4 Bll 4v V= v3 -620 33.0 43.0|A13 A6 INS= »6 90 41.0 35.0| D5 D17 INV= &3 -90 41.0 35.0
Cll C5 4vO= &9 -620 33.0 43.0|D20 D13 1¢ S+1 &K 90 41.0 35.0|D10 D14 1INV = +3 -90 41.0 35.0
B12 B14 4v V= +9 -620 33.0 43.0|D21 D7 INS= &4 90 41.0 35.0| D4 D15 24 O= SA -110 30.0 46.0
Cl2 C2 4v V= +9 -620 33.0 43.0| Al Al4 1v S= »A 80 32.0 440 A8 A4 2v V= &4 -110 30.0 46.0
Al3 A5 4v O= +3 -620 33.0 43.0| D9 D25 1¢ S= &4 70 30.0 46.0| B9 Bll 14 O+1 &A -110 30.0 46.0
B13 B5 4v O= SA -620 33.0 43.0| E2 E9 24 O-1 +A 50 28.0 48.0 | E14 E12 2v V= aT -110 30.0 46.0
D15 D10 4v V= »6 -620 33.0 43.0| B2 B3 INS-1 438 -50 18.0 58.0|D23 D8 24 O= SA -110 30.0 46.0
E15 E10 4v O= &A -620 33.0 43.0| D4 D15 INS-1 438 -50 18.0 58.0 Al Al4 2NO= SA -120 20.0 56.0
E16 E4 4v V= +9 -620 33.0 43.0| B5 B12 INS-1 4 -50 18.0 58.0| D6 D19 1INV +l1 5 -120 20.0 56.0
Al A2 3NV+1 & -630 19.0 57.0| A9 A1l INS-1 vQ -50 18.0 58.0| A7 A10 INV+1 v2 -120 20.0 56.0
C7 C6 3NV+1 &3 -630 19.0 57.0|C10 C8 INS-1 -50 18.0 58.0| C7 C6 2NO= SA -120 20.0 56.0
A7 A3 4v V+1 &4 -650 10.0 66.0 |D10 D14 INS-1 vQ -50 18.0 58.0 (D21 D7 INV+l1 3 -120 20.0 56.0
B7 B3 4v O+1 &9 -650 10.0 66.0|D12 D18 INS-1 &4 -50 18.0 58.0(C12 C2 2vV+l1 5 -140 13.0 63.0
B8 B10 4v V+1 &6 -650 10.0 66.0|D16 D11 INS-1 %4 -50 18.0 58.0 (D20 D13 2v V+1 3 -140 13.0 63.0
D9 D26 4v O+1 &9 -650 10.0 66.0| D23 D8 INS-1 438 -50 18.0 58.0( B2 B3 2NV+1 2 -150 10.0 66.0
Al2 Al4 4y O+1 49 -650 10.0 66.0|B13 B6 1INS-2 vQ -100 7.0 69.0| Bl Bl4 24 N-2 aA -200 7.0 69.0
D19 D12 4v O+1 49 -650 10.0 66.0 |E14 E12 INS-2 4 -100 7.0 69.0| D3 D26 INN-2 4A -200 7.0 69.0
D22 D7 4v O+1 &A -650 10.0 66.0| E1 E4 24 O= ¢ A -110 3.0 73.0| D2 D24 2v S-4 48 -400 3.0 73.0
Cl0 C8 3NV+2 &4 -660 2.0 74.0| D2 D24 24 O= *A -110 3.0 73.0| A9 All 3NO= 7 -400 3.0 73.0
E1l E8 3NO+3 ¢3 -690 0.0 76.0| E3 E7 INS-3 4 -150 0.0 76.0| A2 A3 14aRDO= ¢7 -520 0.0 76.0
- C4 35.7 - C4 35.7 - C4 35.7
- E5 44.2 - E6 34.9 - E6 34.9
13 4 K974 Basta kontrakt 14 4 865 Basta kontrakt 15 4 K106 Basta kontrakt
Nord vE3 54 N =650 Ost v E872 44 N D -2 -300 Syd v 1085 44 V D -3 500
Alla ¢ E Ingen + ED8 NS + EKD
#D98532 & ¢ v & NT #K83 & ¢ v & NT &ED64 & ¢ v & NT
432 « ED5 N 8 114 114 4 E9 4 KD4 N39 3814 4 DKn542 4 E97 N89 969
vD98764 v KKn102 S 7 104 114 vDKn10653 vK4 S 39394 vKn vD9743 S 898609
+ 1097 +43 052824 ¢- + K976 O 104 9 4 6 + Kn96 +1042 O4 446 4
«107 #KKn64 V52824 #Kn9754 #D1062 V 104 104 6 #Kn1087 #K2 V44474
# Kn1086 4 Kn10732 483
v5 v9 v EK62
+ KDKn8652 ¢ Kn105432 + 8753
»E »E #0953
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E2 E5 44DN+1 ¢4 990 75.0 1.0| D5 D16 4¢DS= vQ 510 76.0 0.0| B7 B2 3NN+1 ¢3 630 76.0 0.0
Al4 A2 44DN+1 ¢4 990 75.0 1.0| E9 E11 3NO-3 ¢2 150 740 2.0| A4 A5 3NN= 47 600 73.0 3.0
A8 All 4¢DS+1 &T 910 72.0 4.0|(D10 D26 24 S= vQ 110 720 4.0| C8 C7 3NN= v4 600 73.0 3.0
E1l E14 4¢DS= 43 710 70.0 6.0|D13 D19 54 0-2 ¢5 100 69.0 7.0| D1 D20 INN+2 &7 150 67.0 9.0
B9 B5 3NN+2 T 660 68.0 8.0|D21 D1 INO-2 3 100 69.0 7.0 B4 B5 INN+2 7 150 67.0 9.0
A3 A4 44 N+1 T 650 58.0 18.0| D3 D25 4v V-1 48 50 65.0 11.0| D6 D17 INN+2 3 150 67.0 9.0
B3 B4 44 N+1 T 650 58.0 18.0|D24 D9 3NO-1 42 50 65.0 11.0| A10 A6 2NN+1 ¢7 150 67.0 9.0
B8 B1l 44 N+1 v2 650 58.0 18.0| C1 C10 4¢ S-1 +Q -50 62.0 140 E2 E14 INN+1 v4 120 51.0 25.0
C8 C7 44 N+1 ¢4 650 58.0 18.0| D6 D18 3¢DS-1 ¢Q -100 59.0 17.0| D4 D26 INN+1 ¥3 120 51.0 25.0
A10 A12 44 N+1 v2 650 58.0 18.0| B8 Bll 44 S-2 vQ -100 59.0 17.0| D5 D15 INN+1 7 120 51.0 25.0
B10 B12 44 N+1 ¢4 650 58.0 18.0| D7 D20 2v V= 48 -110 55.0 21.0| A7 A2 2NN= T 120 51.0 25.0
Cll C6 44 N+1 2 650 58.0 18.0 | D11 D15 3# O = 43 -110 55.0 21.0| D8 D21 INN+1 47 120 51.0 25.0
Cl12 C3 44 N+1 ¢4 650 58.0 18.0| D2 D23 INO+1 42 -120 51.0 25.0| A11 Al INN+1 v4 120 51.0 25.0
E16 E6 44 N+1 vJ 650 58.0 18.0 D17 D12 INO+1 42 -120 51.0 25.0|C11 C6 INN+1 3 120 51.0 25.0
D2 D23 44 N= v2 620 46.0 30.0| B9 B5 3#0+1 9 -130 47.0 29.0| D11 D14 INN+1 3 120 51.0 25.0
D3 D25 44 S= v5 620 46.0 30.0 (B10 B12 34 O+1 &2 -130 47.0 29.0|C12 C3 2NN= v4 120 51.0 25.0
D22 D8 44 N= v2 620 46.0 30.0(B13 B7 2v V+1 &3 -140 43.0 33.0|D12 D16 2NN= a7 120 51.0 25.0
C4 C2 5¢ S= vQ 600 41.0 35.0|D22 D8 2v V+1 43 -140 43.0 33.0|A14 A3 INN+1 ¥3 120 51.0 25.0
D17 D12 3NN= v2 600 41.0 350 C8 C7 INO+2 &3 -150 38.0 38.0|D25 D10 2N N= 46 120 51.0 25.0
D11 D15 4v O-2 #A 200 37.0 39.0 | A10 Al2 5¢ S-3 4A -150 38.0 38.0| D7 D19 3&# N= 47 110 38.0 38.0
Bl14 B2 34 N+2 vJ 200 37.0 39.0(E16 E6 2NO+1 ¢J -150 38.0 38.0| D3 D24 INN= v3 90 33.0 43.0
D5 D16 24 N+2 vK 170 340 42.0| E1 E14 2v O+2 ¢J -170 29.0 47.0| E5 E9 INN= v3 90 33.0 43.0
D4 D14 4¢ S+1 v6 150 31.0 45.0| E3 E10 3v V+1 ¢A -170 29.0 47.0|B11 B1 INN= v4 90 33.0 43.0
D10 D26 4¢ N+1 T 150 31.0 45.0| D4 D14 2v V+2 &3 -170 29.0 47.0|D23 D9 1&#N+1 a7 90 33.0 43.0
E12 E15 3¢ S+1 v6 130 28.0 48.0| A8 All 2v V+2 438 -170 29.0 47.0|B13 B8 24 V-1 +A 50 27.0 49.0
E3 E10 2¢ S+1 «3 110 26.0 50.0|C12 C3 2y V+2 48 -170 29.0 47.0|E15 E1 14 O-1 +¢A 50 27.0 49.0
D6 D18 3v V-1 48 100 24.0 52.0|E12 E15 2v V+2 48 -170 29.0 47.0| E3 E6 INN-1 3 -100 18.0 58.0
A6 Al 44 N-1 ¢4 -100 19.0 57.0| A3 A4 3v V+2 a5 -200 22.0 540| C4 C2 2vS-1 #J -100 18.0 58.0
A9 A5 44 N-1 v -100 19.0 57.0| A6 Al 3NO= a2 -400 19.0 57.0| E7 E16 3NN-1 3 -100 18.0 58.0
D13 D19 44 N-1 vK -100 19.0 57.0| A14 A2 3NO= +J -400 19.0 57.0| A9 A12 2NN-1 3 -100 18.0 58.0
D24 D9 44 S-1 vQ -100 19.0 57.0| E2 E5 4v V= 45 -420 12.0 64.0| B9 B12 3NN-1 v4 -100 18.0 58.0
Al3 A7 3v O= aJ -140 13.0 63.0| E4 E8 4v V= ¢ A -420 12.0 64.0| E10 E12 2NN-1 v4 -100 18.0 58.0
B13 B7 3v O= »A -140 13.0 63.0| B6 Bl 4v O= ¢A -420 12.0 64.0|D18 D13 INN-1 v4 -100 18.0 58.0
E4 E8 54 N-2 v6 -200 8.0 68.0|A13 A7 4v V= 45 -420 12.0 64.0| C1 C10 5#4N-2 vQ -200 8.0 68.0
B6 Bl 44 S-2  &T -200 8.0 68.0|B14 B2 4v V= a5 -420 12.0 64.0|B10 B6 4vDS-1 4Q -200 8.0 68.0
D21 D1 5¢ S-2 42 -200 8.0 680| C4 C2 4v V+1 &5 -450 6.0 70.0|B14 B3 INN-2 3 -200 8.0 68.0
Cl C10 6¢DS-2 vQ -500 4.0 720| A9 A5 3NO+2 a2 -460 4.0 72.0| E4 E11 3¢ S-3 vJ -300 3.0 73.0
D7 D20 44DN-3 vK -800 2.0 74.0|C11 C6 44DO= -510 2.0 74.0|A13 A8 3NN-3 ¢2 -300 3.0 73.0
E9 E11 54DN-5 ¢T -1400 0.0 76.0| B3 B4 4vDV +1l 45 -690 0.0 76.0|D22 D2 3NN-4 3 -400 0.0 76.0
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- C5 47.3 - C5 47.3 - C5 47.3
- E7 38.7 - E7 38.7 - E8 40.5
16 46532 Basta kontrakt 17 497542 Basta kontrakt 18 4 Kn983 Basta kontrakt
Vast vE9 3¢ N =110 Nord v KD102 34 N =140 Ost v 9432 INTS =90
oV + EKDKn Ingen 4952 NS + Kn93
«D53 & ¢ v & NT »8 & ¢ v & NT #DKn & ¢ v & NT
«Knl1074 «KD9 N59 767 » E83 «KD N7 6896 «E754 4D6 N667 77
v 8762 v K54 S59767 vE73 v Kn85 S76896 vE8 v KDKn5 S6 6777
*7 ¢ 932 08356 4 ¢1063 +DKn874 066547 876 410542 O6 66 66
#EK84  #10972 V83564 #Kn973 #K106 V66547 #K854 #1073 V66 666
~E8 + Kn106 « K102
v DKn103 v 964 v 1076
+ 108654 ¢ EK ¢ EKD
#Kn6 #ED542 *E962
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
B7 B2 3NN+1 &7 430 76.0 0.0| A4 Al4 14 N+3 ¢8 170 740 20| E5 E12 INS+3 44 180 76.0 0.0
All Al INN+3 #2 180 740 20| C5 C3 24 N+2 v8 170 740 2.0| D2 D21 INS+2 &5 150 70.0 6.0
Cl C8 2NN+1 #2 150 70.0 6.0 E6 E10 34 N+1 ¢Q 170 740 20| D9 D22 INN+2 K 150 70.0 6.0
D3 D24 2NN+1 #2 150 70.0 6.0 C2 C10 24 N+1 &6 140 68.0 8.0|A10 Al INS+2 8 150 70.0 6.0
D18 D13 INN+2 #2 150 70.0 6.0| C7 Cl1 14 N+2 ¢Q 140 68.0 8.0[Al1l A7 INS+2 &4 150 70.0 6.0
D8 D21 3¢ N+1 &K 130 66.0 10.0(C12 C4 34 N= ¢4 140 68.0 80(E14 E3 INS+2 44 150 70.0 6.0
D1 D20 INN+1 &2 120 53.0 23.0| C1 C8 24 N= vJ 110 63.0 13.0] C1 C8 INN+1 K 120 52.0 24.0
C2 C10 2NN= T 120 53.0 23.0|E11 E1 24 N= ¢+Q 110 63.0 13.0( C2 C10 INS+1 #4 120 52.0 24.0
E2 E14 2NN-= 2 120 53.0 23.0|E16 E8 3¢ O-2 «4J 100 60.0 16.0( A4 Al4 INS+1 #8 120 52.0 24.0
C5 C3 2NN= &2 120 53.0 23.0| D2 D21 2#S-= *T 90 56.0 20.0( D4 D25 INS+1 #4 120 52.0 24.0
A7 A2 2NN= T 120 53.0 23.0| A5 A6 2#S= +3 90 56.0 20.0| A5 A6 INS+1 &5 120 52.0 24.0
A9 Al12 INN+1 v4 120 53.0 23.0 (D26 D11 2# S = +6 90 56.0 200 C5 C3 INS+1 44 120 52.0 24.0
Al0 A6 INN+1 4 120 53.0 23.0| E5 E12 3NV-1 8 50 51.0 25.0| D6 D16 INS+1 &4 120 52.0 24.0
D12 D16 2NN = T 120 53.0 23.0|B13 B9 3¢ O-1 46 50 51.0 25.0 E6 E10 INS+1 #4 120 52.0 24.0
Al3 A8 2NN= T 120 53.0 23.0( B4 B14 24S-1 +6 -50 36.0 40.0( C7 C11 INS+1 #4 120 52.0 24.0
E15 E1 INN+1 &2 120 53.0 23.0( D4 D25 3v N-1 4K -50 36.0 40.0( D7 D18 INS+1 44 120 52.0 24.0
D22 D2 2NN-= &2 120 53.0 23.0| E4 E7 2v N-1 ¢7 -50 36.0 40.0|B10 Bl INS+1 44 120 52.0 24.0
D25 D10 INN+1 v4 120 53.0 23.0( B5 B6 2#S-1 T -50 36.0 40.0|E16 E8 INS+1 «4 120 52.0 24.0
D4 D26 2¢ N+1 &K 110 33.0 43.0| D5 D14 INS-1 ¢3 -50 36.0 40.0 (D26 D11 INS+1 44 120 52.0 24.0
D6 D17 2¢ N+1 &K 110 33.0 43.0| D8 D20 2#S-1 T -50 36.0 40.0( B4 B14 INS= &5 90 30.0 46.0
C7 C11 2¢ N+1 2 110 33.0 430 D9 D22 2#S-1 T -50 36.0 40.0| E4 E7 INS= *4 90 30.0 46.0
D11 D14 3¢ N= ¢2 110 33.0 43.0|B11 B7 2#S-1 ¢T -50 36.0 40.0( D5 D14 INS= &5 90 30.0 46.0
Cl2 C4 2¢ N+1 +2 110 33.0 43.0|Al2 A2 2#S-1 +3 -50 36.0 40.0 [ Al2 A2 INS= &5 90 30.0 46.0
B13 B8 34 N= T 110 33.0 43.0(D12 D15 2#S-1 +6 -50 36.0 40.0|B12 B2 INS= a5 90 30.0 46.0
B14 B3 3¢ N= T 110 33.0 43.0|A13 A9 24 S-1 T -50 36.0 40.0 (D12 D15 INS= &5 90 30.0 46.0
D23 D9 2¢ N+1 &K 110 33.0 43.0|D13 D17 2#S-1 +3 -50 36.0 40.0 [ A13 A9 INS= &5 90 30.0 46.0
E3 E6 INN= 3 90 21.0 55.0 (E14 E3 34 N-1 %6 -50 36.0 40.0|E15 E2 INS= *4 90 30.0 46.0
A4 A5 INN-= oK 90 21.0 55.0 D6 D16 1¢ O+1 #A -90 17.0 59.0 (D23 D3 INS= +8 90 30.0 46.0
E4 E11 INN-= *2 90 21.0 55.0| D7 D18 2¢ O= ] -90 17.0 59.0 (D24 D10 1INV = 43 -90 20.0 56.0
D7 D19 INN= oK 90 21.0 55.0( A8 A3 2¢ O= *A -90 17.0 59.0| D8 D20 INS-1 #4 -100 15.0 61.0
B4 B5 3NN-1 &7 -50 11.0 65.0( B8 B3 INV= v2 -90 17.0 59.0(B13 B9 INS-1 &4 -100 15.0 61.0
E7 E16 2NN-1 4K -50 11.0 65.0({A10 Al 2¢ O= ] -90 17.0 59.0 (D13 D17 INN-1 ¢K -100 15.0 61.0
B9 B12 2NN-1  &T -50 11.0 65.0(B10 Bl 2¢ O= *A -90 17.0 59.0|D19 D1 2NS-1 49 -100 15.0 61.0
B10 B6 2NN-1 &2 -50 11.0 65.0[All A7 24S-2 +3 -100 8.0 68.0| B5 B6 2v O= ¢ A -110 10.0 66.0
E10 E12 24 N-1  #T -50 11.0 65.0(B12 B2 2#S-2 ¢3 -100 8.0 68.0| A8 A3 INS-2 YA -200 5.0 71.0
Bll Bl 3¢ N-1 ¢2 -50 11.0 65.0 (D24 D10 24 S-2 43 -100 8.0 68.0|B11 B7 INS-2 &5 -200 5.0 71.0
D5 D15 3NN-2 49 -100 2.0 74.0|D19 D1 2¢ O+1 &5 -110 4.0 720|E11 E1 2NN-2 K -200 5.0 71.0
E5 E9 24 N-2 &K -100 2.0 74.0|D23 D3 2¢ O+2 42 -130 2.0 740|C12 C4 2¢ S-2 v8 -200 5.0 71.0
Al4 A3 5¢ N-2 &7 -100 2.0 740|E15 E2 2NO+1 K -150 0.0 760 B8 B3 44 N-3 vK -300 0.0 76.0
- C6 41.6 - C6 41.6 - C6 41.6
- E8 40.5 - B9 33.8 - B9 33.8
19 « 854 Basta kontrakt 20 +E6 Basta kontrakt 21 873 Basta kontrakt
Syd v Kn85432 6¢ V =-1370 Vast v KKn53 5NT N =660 Nord vE76543 2NT O =-120
oV +64 Alla + KKn94 NS +6
#54 & ¢ v & NT #K108 & ¢ v & NT #1096 & ¢ v & NT
4« DKn1072 «K3 N3 1421 «K10 « DKn953 N 8 10118 11 « 102 « EK N4 55 8 4
v EKD v 109 S31422 vE1094 v7 S 8 10118 11 vK1098 vDKn2 S45584
+ E109 ¢ DKn872 O 10129 1111 ¢ D82 +1073 052252 4542 ¢ EKn87 0988538
«E10 #DKn92 V 10129 1111 #7532 #D964 V52252 #E842 #DKn73 V97848
« E96 #8742 « DKn9654
v76 v D862 v-
¢ K53 + E65 + KD1093
*K8763 #EKn *K5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
D1 D18 4v V-3 6 300 75.0 1.0| D1 D18 4v N+1 «Q 650 76.0 0.0| B7 B8 4vDV-3 48 500 76.0 0.0
D10 D23 54 0-3 4A 300 75.0 1.0({D24 D4 3NN+1 43 630 740 2.0(D10 D22 24 S+1 #A 140 73.0 3.0
D7 D17 4v V-2 6 200 720 4.0| C2 C1 4v N= «Q 620 57.0 19.0|B13 B11 24 S+1 T 140 73.0 3.0
Bl B3 64 O-1 7 100 70.0 6.0 C3 C10 4v N= «Q 620 57.0 19.0| E7 E2 24 S= vT 110 70.0 6.0
D6 D15 2NV +3 v5 -210 68.0 8.0| D3 D22 4v S= &7 620 57.0 19.0| C8 C11 3NO-2 «4Q 100 67.0 9.0
D3 D22 3NV= v4 -600 65.0 11.0| A5 Al4 4y N= «Q 620 57.0 19.0| A10 A5 3¢ O-2 49 100 67.0 9.0
A5 Al4 3NV= v4 -600 65.0 11.0| B5 B14 4y N= 3 620 57.0 19.0( C2 C1 3NV-1 &8 50 60.0 16.0
B5 B14 3NV +l1 ¢5 -630 50.0 26.0| D5 D26 4v N= «Q 620 57.0 19.0| D2 D19 3NO-1 44 50 60.0 16.0
E5 E8 3NO+1 &3 -630 50.0 26.0| E6 E1 4v N= «Q 620 57.0 19.0| E5 E14 3NO-1 4Q 50 60.0 16.0
E7 E11 3NO+1 43 -630 50.0 26.0| D7 D17 4v N= «Q 620 57.0 190 C6 C4 3vyV-1 3 50 60.0 16.0
D8 D19 3NV+1l v2 -630 50.0 26.0| E7 E11 4y N= &6 620 57.0 19.0 | A13 A1l 3NO-1 44 50 60.0 16.0
D9 D21 3NV +1 v4 -630 50.0 26.0| All A2 4y N= 3 620 57.0 19.0| B1 B9 34 S-1 42 -100 50.0 26.0
E9 E16 3NV+1l ¢5 -630 50.0 26.0|B11 B2 4v N= 3 620 57.0 19.0( D1 D17 44 S-1 #A -100 50.0 26.0
All A2 3NV+1l &3 -630 50.0 26.0|B12 B8 4y N= +Q 620 57.0 19.0| E1 E3 34S-1 v8 -100 50.0 26.0
B1l1 B2 3NV+l ¢2 -630 50.0 26.0| E12 E2 4y N= 5 620 57.0 19.0| A2 A4 34S-1 ¢5 -100 50.0 26.0
Al2 A8 3NV+1l v2 -630 50.0 26.0| D14 D12 4v N= vA 620 57.0 19.0( E6 E9 34 S-1 42 -100 50.0 26.0
B12 B8 3NV+l v4 -630 50.0 26.0| E14 E4 4y N= 49 620 57.0 19.0| D9 D20 2NO = ] -120 43.0 33.0
D14 D12 3NV+1 ¢3 -630 50.0 26.0| D20 D2 4v N= 5 620 57.0 19.0|D25 D5 INO+1 44 -120 43.0 33.0
E14 E4 3NV+1l v4 -630 50.0 26.0| B1 B3 3NN= 3 600 40.0 36.0] AL A9 2NO+1 «Q -150 35.0 41.0
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D25 D11 3NO+1 3 -630 50.0 26.0( D6 D15 2NS+1 +9 150 38.0 38.0| B2 B4 INO+2 +¢K -150 35.0 41.0
C6 C4 5eV= v2 -650 35.0 41.0({A12 A8 3v N= «Q 140 35.0 41.0| A7 A8 24 0+3 ¢3 -150 35.0 41.0
C8 Cl11 44 V+1 v4 -650 35.0 41.0(B13 B10 3v N= «Q 140 35.0 41.0| D11 D24 2NO+1 4Q -150 35.0 41.0
Al A3 3NO+2 w7 -660 18.0 58.0( C6 C4 2NN= &3 120 32.0 440|A14 A6 2NO+1 4Q -150 35.0 41.0
C2 C1 3NV+2 v4 -660 18.0 58.0 (D13 D16 2v S= &2 110 30.0 46.0 D21 D3 INO+2 44 -150 35.0 41.0
C3 C10 3NV +2 v4 -660 18.0 58.0( E5 E8 4v N-1 «Q -100 17.0 59.0| D8 D18 2NO+2 4Q -180 26.0 50.0
E3 E15 3NV +2 ¢2 -660 18.0 58.0( A6 A7 4v N-1 a3 -100 17.0 59.0| A12 A3 INO+3 44 -180 26.0 50.0
D5 D26 3NO +2 &7 -660 18.0 58.0( B6 B7 4v S-1 &K -100 17.0 59.0 (D26 D12 INO+3 4Q -180 26.0 50.0
A6 A7 3NV+2 v3 -660 18.0 58.0( C8 Cl11 2N N-1 43 -100 17.0 59.0( C3 C10 34DS-1 A -200 21.0 55.0
E6 E1 3NV+2 ¢2 -660 18.0 58.0( D8 D19 4v S-1 *2 -100 17.0 59.0(B12 B3 44DS-1 %A -200 21.0 55.0
A9 A4 3NV+2 v5 -660 18.0 58.0( A9 A4 4v S-1 vA -100 17.0 59.0| E4 E15 3NV = rY:] -400 16.0 60.0
B9 B4 3NV+2 v5 -660 18.0 58.0( B9 B4 3NN-1 43 -100 17.0 59.0| D7 D16 3NO= LY -400 16.0 60.0
Cl2 C5 3NV+2 v4 -660 18.0 58.0( D9 D21 4v N-1 49 -100 17.0 59.0|B10 B5 3NO= +K -400 16.0 60.0
E12 E2 3NO+2 &7 -660 18.0 58.0 (D10 D23 4v N-1 a5 -100 17.0 59.0| D4 D23 3NO+1 +¢9 -430 11.0 65.0
Al3 A10 3NV+2 v2 -660 18.0 58.0({C12 C5 3NN-1 4 Q -100 17.0 59.0(B14 B6 3NO+1 +¢K -430 11.0 65.0
B13 B10 3NV +2 v2 -660 18.0 58.0 [ A13 A10 4v N-1 «Q -100 17.0 59.0( D6 D14 44D S-2 #A -500 4.0 72.0
D13 D16 3NV +2 v4 -660 18.0 58.0 (D25 D11 3NN-1 a3 -100 17.0 59.0| E8 E12 34DN-2 vQ -500 4.0 72.0
D20 D2 3NO+2 6 -660 18.0 58.0( A1 A3 3NN-2 43 -200 3.0 73.0(C12 C5 44DS-2 A -500 4.0 72.0
B6 B7 44 O+2 97 -680 2.0 74.0( E9 E16 4v N-2 «Q -200 3.0 73.0(D15 D13 44DS-2 ¥8 -500 4.0 72.0
D24 D4 6NV = v2 -1440 0.0 76.0| E3 E15 4v S-3 +8 -300 0.0 76.0(E16 E10 44DS-2 &A -500 4.0 72.0
- C7 38.1 - C7 38.1 - C7 38.1
- E10 33.1 - E10 33.1 - E11 40.2
22 « DKn1064 Basta kontrakt 23 4653 Basta kontrakt 24 # Kn83 Basta kontrakt
Ost v43 64 SD-6-1400 |Syd vE1074 34 V =-140 Vast vE1072 2NTV =-120
oV + KD873 Alla + D106 Ingen + EK2
&D & ¢ v & NT #KKn8 & ¢ v & NT &DKn9 & ¢ v & NT
oK 4 E975 N16161 4Kn97 #ED1084 N8 55 47 4 E76 & K95 N5 4 45 4
vKn965 v EK107 S16161 vKKn5 v D983 S855 47 vKKn54 v D63 S54454
42 ¢ E5 O 127 127 11 ¢ K9853 ¢ 42 047 895 ¢ Kn1043 + D98 O7 9878
&#E76543 #KKn2 vV 127 127 11 D10 &E2 V47896 #EK #10763 V798738
832 & K2 4 D1042
v D82 v 62 v98
+ Kn1096 ¢ EKn7 ¢ 765
#1098 #976543 #3542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C3 C2 3NO-2 *J 200 76.0 0.0| A2 A10 2NO-3 #4 300 76.0 00| E2 E4 2NV-1 43 50 75.0 1.0
E5 E14 6NV-1 *J 100 730 3.0| B3 B5 44 0-2 v6 200 69.0 7.0 D7 D15 3v V-1 A 50 75.0 1.0
Ald A6 4v O-1 ¢J 100 73.0 3.0| D7 D15 3v O-2 &9 200 69.0 7.0 D5 D24 INN-1 &3 -50 68.0 8.0
B7 B8 24 N-2 vA -100 70.0 6.0| E7 E10 44 O-2 &7 200 69.0 7.0 E8 E3 2v N-1 v3 -50 68.0 8.0
Bl B9 INO+1 ¢J -120 68.0 80| E8 E3 44 O-2 v6 200 69.0 7.0[Al13 Al2 24 S-1 &A -50 68.0 8.0
El E3 3vO= LY:] -140 66.0 10.0 | D10 D21 44 O-2 +¢A 200 69.0 7.0(E15 E5 24 S-1 &A -50 68.0 8.0
D9 D20 3# O+3 +¢9 -170 63.0 13.0|All A6 44 O-2 &4 200 69.0 7.0(D16 D1 INN-1 &6 -50 68.0 8.0
B10 B5 3#O0+3 +¢9 -170 63.0 13.0| B2 B10 44 O-1 &3 100 54.0 22.0| D9 D19 INV= v2 -90 62.0 14.0
C6 C12 INO+4 T -210 59.0 17.0| A3 A5 34 O-1 &4 100 54.0 220 Bl B4 24 S-2 &K -100 54.0 22.0
D10 D22 INO+4 ¢J -210 59.0 17.0| C4 C10 24 O-1 &7 100 54.0 22.0| B2 B10 24 S-2 &A -100 54.0 22.0
C4 C10 2NO+4 +J -240 55.0 21.0| A8 A9 34 O-1 +¢A 100 54.0 22.0| E6 E14 INDN-1 &3 -100 54.0 22.0
D8 D18 2NO+4 +6 -240 55.0 21.0| B8 B9 44 O-1 v6 100 54.0 220 C7 C5 24 S-2 &A -100 54.0 22.0
D21 D3 4y V= &Q -620 52.0 240 E9 E1 2v O-1 3 100 540 220 B8 B9 24 S-2 &A -100 54.0 22.0
A2 A4 4v O+1 9 -650 45.0 31.0 | A13 Al2 2NV-1 &8 100 54.0 22.0[A1l1 A6 2& S-2 v5 -100 54.0 22.0
B2 B4 4v O+1 ¢1J -650 45.0 31.0|B14 B7 34 O-1 &4 100 54.0 22.0|E11 E16 2& S-2 v5 -100 54.0 22.0
A7 A8 5v O= a2 -650 45.0 31.0|D16 D1 34 O-1 +v6 100 54.0 220 C1 C11 INV+1 #2 -120 42.0 34.0
B13 B1ll 4v O+1 #T -650 45.0 31.0| Al A4 24 O= &8 -110 39.0 37.0(D10 D21 2NV = A -120 42.0 34.0
E16 E10 4v O+1 ¢J -650 45.0 31.0| B1 B4 24 O= &9 -110 39.0 37.0(B11 B6 INV+1l &9 -120 42.0 34.0
D25 D5 4v O+l +¢6 -650 45.0 31.0| C1 Cl1l1 24 O= &7 -110 39.0 37.0|D12 D25 INV+1 7 -120 42.0 34.0
D1 D17 3NO+2 ¢ -660 36.0 40.0 | D11 D23 24 O= 7 -110 39.0 37.0({D22 D4 INV+1 v2 -120 42.0 34.0
D4 D23 3NO+2 +¢6 -660 36.0 40.0 | D14 D13 24 O= &4 -110 39.0 37.0f A1 A4 INV+2 v2 -150 25.0 51.0
E8 E12 3NO+2 ¢J -660 36.0 40.0| D26 D6 24 O= v6 -110 39.0 37.0( A2 A10 INV+2 +A -150 25.0 51.0
D6 D14 4v V+2 46 -680 24.0 52.0| D2 D18 24 O+1 +¢A -140 19.0 57.0( D2 D18 INV+2 v2 -150 25.0 51.0
E6 E9 4v O+2 49 -680 24.0 52.0| E2 E4 24 O+1 ¢7 -140 19.0 57.0f A3 A5 2NV+1 #Q -150 25.0 51.0
C7 C5 4v O+2 ¢ -680 24.0 52.0| C3 C2 34 O= &5 -140 19.0 57.0( B3 B5 2#S-3 *J -150 25.0 51.0
D7 D16 4v V+2 +K -680 24.0 52.0| D3 D20 34 O= v6 -140 19.0 57.0f C3 C2 INV+2 +A -150 25.0 51.0
Al2 A3 49y O+2 +6 -680 24.0 52.0| D5 D24 34 O= &7 -140 19.0 57.0( C4 C10 INV+2 #2 -150 25.0 51.0
B12 B3 4v V+2 4Q -680 24.0 52.0| C6 C12 24 O+1 ¢7 -140 19.0 57.0| A8 A9 INV+2 ¢A -150 25.0 51.0
Bl14 B6 4v O+2 ¢J -680 24.0 52.0| C7 C5 34 O= A -140 19.0 57.0( D8 D17 INV+2 v2 -150 25.0 51.0
D15 D13 4v O+2 &8 -680 24.0 52.0| D8 D17 24 O+1 +¢A -140 19.0 57.0( E9 E1 2v N-3 a5 -150 25.0 51.0
D26 D12 4v O+2 48 -680 24.0 52.0| D9 D19 34 O= &3 -140 19.0 57.0(B13 B12 2NV +1 +¢A -150 25.0 51.0
Cl C11 BNO+3 43 -690 12.0 64.0|B11 B6 24 O+1 &7 -140 19.0 57.0 (D14 D13 2NV +1 +¢A -150 25.0 51.0
E4 E15 3NO+3 42 -690 12.0 64.0 | D12 D25 24 O+1 #9 -140 19.0 57.0| C6 C12 2NV +2 +¢2 -180 11.0 65.0
D11 D24 3NO+3 ¢J -690 12.0 64.0|B13 B12 24 O+1 +¢A -140 19.0 57.0| E7 E10 INDV= #2 -180 11.0 65.0
Al3 All 3NO+4 ¢J -720 8.0 68.0|E15 E5 34 O= v6 -140 19.0 57.0 (D11 D23 INDV+1l ¢K -280 6.0 70.0
Al A9 5¢DN-4 vA -800 6.0 70.0|D22 D4 24 O+1 &9 -140 19.0 57.0|B14 B7 INDV+1 #2 -280 6.0 70.0
A10 A5 44DN-5 vK -1100 4.0 72.0(E11 E16 34 O+1 v6 -170 3.0 73.0|D26 D6 INDV+1l #7 -280 6.0 70.0
D2 D19 4vDO+2 #8 -1190 2.0 740(Al4 A7 264 O+2 +A -170 3.0 73.0| D3 D20 INDV+2 ¥2 -380 1.0 75.0
E7 E2 6y V= ¢K -1430 0.0 76.0| E6 E14 44 O= A -620 0.0 76.0(A14 A7 INDO+2 ¢2 -380 1.0 75.0
- C8 37.0 - C8 37.0 - C8 37.0
- E11 40.2 - E12 37.3 - E12 37.3
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